Algebra Problem Solving
Equations Involving Money (part 1)
Name: _________________________________
Date: ______________
Period: _______
You can use equations to solve word problems involving money. Here is an example:

Mark has $1.95 in his pocket in nickels and dimes. He has 6 times as many dimes as nickels. How many nickels and how many dimes does he have?



Let n = the number of nickels.



Let 6n = the number of dimes.

To change the values to cents, multiply the number of nickels by 5 cents and the number of dimes by 10 cents. Change $1.95 to 195 cents for the equation as well.



5(n) + 10(6n) = 195




       5n + 60n = 195




               65n = 195
                65     65

                   n = 3

            So 6n = 18.

Check 5(3) + 10(18) = 195?

        15 + 180 = 195


      195 = 195(

There are 3 nickels and 18 dimes.

Define a variable. Write an equation and solve. Show all steps.

1. Jane has $2.45 in quarters and dimes in her wallet. She has the same number of quarters as dimes. How many of each does she have?

2. Tony has $2.50 in nickels and dimes. He has twice as many dimes as nickels. How many does he have of each?

3. A person gives you coins that total $3.00. They are all quarters and nickels. If you have 5 times as many nickels as quarters, how many nickels and quarters do you have?

4. Fifteen coins, all half-dollars and quarters, total $5.50. How many half-dollars are there?
(HINT: Let Q = # of quarters.  Q + # of half-dollars = 15.  So # of half-dollars = 15 – Q)
Algebra Problem Solving

Equations Involving Money (part 2)
Name: _________________________________
Date: ______________
Period: _______
Define a variable. Write an equation and solve. Show all steps.

1) Mr. Merrill has 3 times as many nickels as dimes. The coins have a total value of $1.50.  How many of each coin does he have?
      
     _____ nickels, _____ dimes
2) Ms. Lynch has 21 coins in nickels and dimes. Their total value is $1.65. How many of each coin does she have?
      
     _____ nickels, _____ dimes

3) A vending machine that takes only dimes and quarters contains 30 coins, with a total value of $4.20. How many of each coin are there?

   
  _____ dimes, _____ quarters

4) The total value of the $1 bills and $5 bills in a cash box is $124. There are 8 more $5 bills than $1 bills. How many of each are there?

   
  _____ $1 bills, _____ $5 bills

5) A collection of nickels and quarters amounts to $2.60. There are 16 coins in all.  How many of each coin are there?

  
 _____ nickels, _____ quarters

6) Joe Lick bought some 20¢ and 25¢ stamps. He bought 32 stamps in all, and paid $7.40 for them. How many stamps of each kind did he buy?

   
         _____ 20¢ stamps, _____ 25¢ stamps

7) For a school play, 340 tickets valued at $810 were sold. Some cost $2 and some cost $3. How many tickets of each kind were sold?

  
  _____ $2 tickets, _____ $3 tickets

8) Romeo bought a mixture of 20¢, 35¢, and 50¢ valentines. The number of 20¢ valentines was 1 more than twice the number of 35¢ valentines. The number of 50¢ valentines was 2 less than the number of 35¢ ones. If he spent $4.20 all together, how many valentines of each kind did he buy?
 

   

   _____ 20¢ valentines, _____ 25¢ valentines, _____ 50¢ valentines
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